I. Cost Benefit Analysis

Cost

As we are trying to solve the problem of the connection between the company and the remote sites we will need 2 modems. One modem in the company and another one will be in the remote site (Example: Toshki). Each modem will cost us 100 pounds. Also we will need one computer in the company that will cost us 3000 pounds and a laptop in the site, which costs 5000 pounds. Moreover, we will need a printer but since the company already has one, we will not include it in our costs. The software that we will use is the Access instead of the Oracle 8, which is used now in the company but the access will be as a prototype. The Access will cost us 2000 pounds. Our cost for implementing, designing and coaching the people on how to use the system is 12000 pounds. So the Total cost will be 22200 as shown in Exhibit 4. In addition to this there will be a maintenance cost at the end of the second year, which will be 12000 pounds. 

	Year
	Cost
	Benefits
	PVIF
	PV of inflows

	1
	22200
	0
	0.885
	0

	2
	12000
	55750
	0.783
	43652.25

	3
	12000
	55750
	0.693
	36834.75

	4
	12000
	55750
	0.613
	34174.73

	5
	12000
	55750
	0.543
	30272.25

	
	
	
	
	144933.98


*Exhibit 4: Cost Benefit

 So the NPV = 144933.98 – 22200 = 122733.98.

 And the pay back period will be 1.66 years. 

Benefits

Concerning the benefits of this system, it will ease the flow of information between the company and the remote sites, thus saving a lot of time. Also, this system will facilitate the updating process as well as feeding the computer with the information about each employee and his/her location. Therefore, this will eliminate the mistakes that would arise in determining the employees’ salaries.

 Mainly these benefits will be better reflected in the second year of implementing the system, where it is more likely that the number of employees in the HR department, either in the main office or in any project, could be reduced. And since the HR department in the head office is around twelve employees, they can be reduced by six after automating the system. This figure is specified to six employees as there are already two employees (in the site) are responsible for recording the schedule and time of the employees at site. These two people are mainly the project manger at the site, and the HR representative, they are the ones who have to keep track on every single detail happening in the site, and they have to keep track on the vacations and specify how many days exactly did each employee was absent. And, they send them back to the colleagues affair department in Cairo.

There are another two employees in the colleague affairs department responsible for determining the salaries and bonuses of the employees at site depending on the number of days taken in vacation. Those employees in the colleague affair department are supervised by a direct manger and an assistant to make sure that the employees at site receive the salaries that they deserve.

. Thus, these six employees are responsible for recording everything related to the employees at site. They are specified in details about the employees at site, which can be done automatically by the system.

So, by automating the system, we can get rid of these six employees as their jobs are being done by the system, which we provide.

NOTE: we have to bear in mind that not all the benefits are tangible, however, there are some benefits that are intangibles. In other words, our new system may add to the increase in the employees’ moral, as they feel that they are becoming more productive in less time. They can do more and more in very short time by automating their system.

 We were able to reach these figures by asking the HR manager about the effect of applying this system to her job. 

 Reduce number of employees by six in the main office will save us: 6*12*600 = 43000 pounds.

 Reduce number of employees by three in the main sites (suppose we have five sites since the company does not engage in more than five sites at the same time) will save us: 5*3*12*1000 = 180000 pounds.

 And so the benefits on total will be 223000 pounds. 

The interest rate we are using is 13% as it is the rate applied in the construction field at the time being.

By this analysis we conclude that this project is economically feasible as its benefits exceeds its costs.

II. Technical Feasibility

As for the technical part, it is found that there are some tools that are essential for the system to operate. These tools are computers that should be found in the head office and project locations. Also, the system will need modems in order to connect the system operating in the company with various projects. Printers are also needed in both locations in addition to a laptop for the project manager in order to be able to access the system at any time for needed information.

Through our interview with AIC, we found out that the head office which is located in Cairo has many computers, printers and of course modems. Thus, the tools needed are the ones for the projects. To sum up, for the system to operate, we need a computer, modem, printer and a laptop in the project location. And we will just need to change the software that is used by the company which will be Access instead of Oracle. 

So, as the company doesn’t have the equipments needed for the project in the site, it is not  a great problem as we already have the money needed for these equipments and as we have the top managemnt support, thus, the problem of  obtaing the equipments became minor one.

III. Top Management Support

Management in AIC is searching for the best ways to increase the company’s efficiency and productivity, which will consequently lead to the maximization of their profit.. They were so much interested in our project and asked us to keep them informed with our output. So, we think that mangers don’t resist change at all; on the contrary, they are seeking it. Thus, managers want to change the existing system and are convinced by our new system. Also, the employees are really excited to use the new system, and they aren’t resistant to change at all.

So, by their support we can say that the system is feasible from the Top Management view, and by having the money available, we can go and buy the equipments needed for the project.

